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WILHELM  STEINITZ (Part II)

Steinitz (Black) has an overwhelming lead in development and is able to force mate 

[image: image1.png]\ %E k.
g % %% S
N

N N

L

/1/ .. .
M

/%




 543

Wilhelm Steinitz was born in Prague, the ninth child of Jewish parents, in 1836. He learned chess watching his father play and the game captivated him so much he gave up studies as an engineer and the promise of a comfortable life for the insecurity of a full time chess player.  He took up residence in London and in 1866 defeated the legendary Adolf Anderssen, then considered the best player in the world, in a match 8-6 (no draws). His reign as world champion is taken from that date even though the first official world championship game did not take place for another six years.  The game below from the Anderssen match shows how Steinitz was both moving away from the romantic attacking style of La Bourdonnais and Anderssen and also how much he was influenced by the writings of Philidor who stressed the importance of pawns:



ADOLF  ANDERSSEN  -  WILHELM  STEINITZ



London Match 1866, Game 13



Ruy Lopez, Deferred Exchange



 1    e4  
e5 


 2    Nf3 
Nc6



 3    Bb5 
Nf6 


 4    d3 
d6



 5    Bxc6 
bxc6 


 6    h3 
g6



 7    Nc3 
Bg7 


 8    0-0 
0-0



 9    Bg5 
h6 


10   Be3 
c5



11   Rb1 
Ne8(a) 

12   b4  
cxb



13   Rxb4 
c5 


14   Ra4 
Bd7



15   Ra3 
f5 


16   Qb1(b) 
Kh8(c)



17   Qb7 
a5 


18   Rb1 
a4



19   Qd5(d) 
Qc8 


20   Rb6 
Ra7



21   Kh2 
f4 


22   Bd2 
g5



23   Qc4 
Qd8 


24   Rb1(e) 
Nf6



25   Kg1 
Nh7 


26   Kf1 
h5



27   Ng1(f) 
g4 


28   hxg 
hxg



29   f3(g) 
Qh4 


30   Nd1 
Ng5(h)



31   Be1 
Qh7 


32   d4 
gxf



33   gxf 
Nh3 


34   Bf2(i) 
Nxg1



35   dxc 
Qh3+! 


36   Ke1(j) 
Nxf3+

37   Rxf3 
Qxf3 


White resigned after 43 moves

a)  Steinitz’s play was often characterized by minor piece retreats to the back rank to facilitate the advance of his pawns.

b)  White here and in the future consistently refrains from, to us, the natural Nd5 establishing a knight outpost.

c)  16…fxe was to be considered: 17 Nxe4, Bxh3!  18 Qb3+, Kh8  19 Nxe5!  Perhaps best was 16…Nc7 when 17 Qb7 loses to 17…Rb8  18 Qxa7, Ra8.

d)  Again 19 Nd5.

e)  Once more 24 Nd5 which helps White to gain adequate chances on the queenside – eg 24…h5  25 Ra6! Rxa6  26 Qxa6, g4  27 Ba5! Qb8  28 Nh4, Kh7  29 Qb6, Qa8  30 Qd8.

f)  Unnecessarily passive: 27 Nb5! maintains pressure on the queenside – 27…Ra6  28 Nc7, Ra7  29 Ne6.

g)  A weakening move.

h)  The pieces are posted menacingly behind the pawn phalanx in virtually a model of the modern Kings Indian Defence.

i)  If 34 bxc4, Nxg1  35 Kxg1, Qg6+ 36 Kf2, Bh3  37 Bb4, dxc  38 Bxc5, Rc8 wins.

j)  36 Kxg1 loses to 36…Rg8.

SOLUTION:  1…Nf3+!  2 Kh1, Qxh3+!!  3 gxh3, Rxh3  4 Kg2, Rh2+  5 Kg3, Bd6+  6 Kg4, Rh4+  7 Kf5, Rh5+  8 Kg6, Rg5+  9 Kh6, Bf8+  10 Kh7, Kf2  11 Rh1, Bg7  White resigns as …Rh8#  cannot be stopped.  

